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2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXsYdHU HLHRFUH
280,000& =43 =154 XI CH 16,800
307 glz2tol & 27,880 24,500 3,380
02 IZtE M AHE L 8,880 5,500 3,380
OoflgHd s o =s & 32X X
5,500,000& 5,500
OSdEsks 22X ot=Zsgs N
3,380,000 3,380
04 DIZHHALALSE E X 19,000 19,000 0
ONsZddHUHA M3l 9,000,000& x13] 9,000
ONsLYUHE S&X As 10,000,000 *12] 10,000
401 Al HI K 201 I 16,000 0 16,000
01 A& HI 16,000 0 16,000
O=dTs2ddEll =4 HE=>
16,000, 000& 14 16,000
402 RI2FXt20l M 19,000 20,000 A 1,000
01 212t 2 A E = (RERTH ) 19,000 20,000 A 1,000
OdaTtsddEl =4 HE=>
19,000, 000& 14! 19,000
=4 ¥ I M 243 116,900 112,700 4,200
gy 2 UizEH A g 113,900 98,900 15,000
201 et 29,700 16,200 13,500
01 At 22l 10,500 7,000 3,500
O=usg S92 200,000& x5 *73] 7,000
O=Ueunz A 2E=E 7+
200,000& x53] 1,000
O=UAnT AL SHIHE ME
60,0003 +501 x53 1,500
O=UAunz AL E22 M=
10,0002 1004 1,000
02 =224l 5,000 5,000 0
O=Hsa XNAJs =3 5,000,000& 5,000
03 &AL2 I 14,200 4,200 10,000
OF=Jeiy=1 300,000& x53] 1,500
OXMEasHl 400,000& *53] 2,000
OE&Es 3,000& 20 #53| 300
OdHALZ S QJ AlH| 8,000& x10¥ «53| 400
OHM9zl fletee & B2E48H
10,000,000& *13l 10,000
202 Od4dl 45,000 45,000 0
03 2220l 45,000 45,000 0
OZMugde =& 3,000,000 *3F 53] 45,000
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2N ™
Bu: puDs
gl Fous (el &)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
o 738,840
FOIN=E 739,629 720,281 19,348
&< 789
= 738,840
Z2XE2 0o2t00l 29 16,800 16,800 0
201 gBt24y| 16,800 16,800 0
03 A2 G HI 16,800 16,800 0
OEdatE M= 250,000 %83 2,000
OEEZ2 H&E 500& %2, 0000H 1,000
odEsc+Y 50,000 «83| 400
O AHHI
(2,000,000 *43] )+(1,000,000& *43] ) 12,000
O%x2s M= 7,000 x2000H4 1,400
F0lpw K& 15,080 16,020 AN 940
301 et M= 4,080 4,020 60
09 #HAIAHI XIS 2 4,080 4,020 60
Ozl Wad 4,080
-1 ¥ 40,0002 123| x5H 2,400
—22 ¥ 70,000 63| *4H 1,680
307 2I2t0| & 11,000 12,000 A 1,000
02 QIZHEAAIRE E X 11,000 12,000 A 1,000
OFAMNE HoZ6l AIY 11,000,000 = 1J0 £ 11,000
AT 2HA 140,000 110,000 30,000
307 2iz2tol & 140,000 110,000 30,000
05 QIZ2tRE 2 140,000 110,000 30,000
OxEsM oz 1,400,000 100 140,000
H2&ESsHAF A& 14,777 56,416 AN41,639
308 XAXIGHHSO0|& 14,777 7,449 7,328
10 2| 2SHUSHEAXERAEASH] 14,777 7,449 7,328
OHN2Ea=stAL 23| 14,777,000& = 1A 14,777
E2200&s5 & 517,000 517,000 0
306 =132 517,000 517,000 0
01 =92 517,000 517,000 0]
OE2Zo0HFs3 02 517,000,000& 13| 517,000
CHStM SEXHZ2 Ol AHAI R ALY 1,972 4,045 N2,073
= 789
= 1,183
308 XAHXIEHMSOIA 1,972 4,045 N2,073
= 789
= 1,183
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SN BHD
M DS
gl Fous (el &)
= d =
LR ER-T HRAS - BE = e HlDE2
10 S22 S0l | EFAF HI 1,972 4,045 N2,073
CHerd st X [ AM 1,972,000& 1,972
= 789
[ia 1,183
A2TEHN ODlcHxHE At 34,000 0 34,000
308 XXl &M SOl 34,000 0 34,000
10 3J12sothstd Er AR I 34,000 0 34,000
A2ZEQON O AFE 34,000,000& 14 34,000
20, ==SUSMHEXA 620,100 ,983 A 1,013,883
S0t - ==SWU=EM 620,100 ,983 A 1,013,883
stugal XA (XA 512,600 ,305 A 402,705
308 XXIEHH SOl A 512,600 ,305 A 402,705
08 W=J|20CH 512,600 ,305 A 402,705
O ngal £ X2
234,600,000 » 14! 234,600
nsst (=, &841) XA
278,000,000 » 14! 278,000
WX 22 3,500 ,500 0
201 L2l 3,500 ,500 0
01 At 22l 3,500 ,500 0
mE= R 3| 3,500
— Zd3tE H 50,000& =301 =103 1,500
— 283X 10,000& 200 2,000
T -usstd st X 104,000 ,585 A 14,585
301 LEtEBA S 104,000 ,585 A 14,585
12 JIEtE4 3 104,000 ,585 A 14,585
= D8 ]
104,000, 0002 14! 104,000
20N ASote AOE S 848,689 ,057 A 111,368
< 8,844
e 839,845
2 Azdst 848,689 ,057 A 111,368
= 8,844
s 839,845
MNABIDES AL 240,000 ,900 A 19,900
207 A O H] 168,000 ,900 A 61,900
02 & &HIH I 168,000 ,900 261,900
OXRZHABIXI QHLHAIAE 2=
100,000, 000& * 14 100,000
oS AIAE WA (SW) 28,000,000 =14l 28,000
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SN YD
gz 2o AScte A0E d4zZd A8
ool 32t (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
307 glztol & 17,184 16,704 480
[ 6,444
= 10,740
02 I BAAMHEE 17,184 16,704 480
OFSsi0e T2y 22X A
17,184,000& 1 17,184
[ 6,444
= 10,740
SHOIX 2¢ 4,290 12,720 A8,430
201 LEt2 4,290 12,720 A 8,430
01 At 22l bl 1,440 1,440 0
ONZTASMHHI A =2 1,440
— SHOolX 60,000 x12& 720
— M3 dXEEF 60,000 x12& 720
02 S2=24Hl 2,850 11,280 8,430
OUESHOIX RX22 & HAMOE & F
ZHIE(BHE=2) 95,000,000& *0.12%0.25 2,850
HRE MAEH wH 99,000 180,000 A81,000
405 At&tE S HI 99,000 180,000 281,000
01 ML ESFH=H 99,000 180,000 A 81,000
OgeRe 3FH & Zed 28 99,000
—PC 1,200,000% 70CH 84,000
- 2UH 300,000& ~20CH 6,000
— Ty 900,000 =10CH 9,000
HEE LAZEQNH 22 121,850 106,360 15,490
201 2Bt2 101,800 86,310 15,490
01 At 22| 101,800 86,310 15,490
OgeE FSZ2ZEHN 2¢ 70,000
—MS GA(SH2tAHI2fetol el A) &
350,000& »200%& 70,000
O&A=Z=Z2Y 1,100,000& 5% 5,500
OATEHEEZZ IS 550,000& »6 3,300
OBNHLEZZOH 230,000& »100% 23,000
207 Ao 20,050 20,050 0
02 & AR 2] 20,050 20,050 0
OHiolf A Al AZEN SO0lE 16,450
SN R=PNE=" 31,0003 »450%& 13,950
—AHE 500,000& x5z 2,500
OUWPCXIZ10l &ellol= 30,0003 120 3,600
HeEEEs 23t 1,700 1,700 0
201 fEt2E | 1,700 1,700 0
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2N
X ZH -
L= B
el

SNl
=20 ASote ACE EXA=2E A
2tz

(o
SA BB (3H) - NRAY - B %@ﬁ 2t
01 AP 22| H| 1,700 1,700 0
OMeldEES EE= M2 100,000 1200 A& 1,200
OMNMLDE 2AtZE 500,000 *13] 500
SHEASBAAE 29 2 S22 299, 165 293,489 5,676
201 gBt2Ay| 178,665 173,610 5,055
01 AFR 2t 2| 4| 750 750 0
OFMARE 2 150, 000& *53] 750
02 Z2=2=24%4| 177,915 172,860 5,055
OHHEABAAE E8 A2
156,000,000 156,000
OgEHEH SA2eldl
365,240,000< «0.06 21,915
308 XHXIGH SO0l & 120,500 119,879 621
10 2| 2SHUSHEAXERAEASH] 120,500 119,879 621
OANZF 2SIt MARH |SA 22|
90,444,000 x 1Al 90,444
OANZF Z2SI|Et MHal23 K22
16,096,000 « 1Al 16,096
OANZFR 280|BF AHIAH AR 29 222
6,460,000 x14! 6,460
O2-LIctAIAE MHlAOAT 22 223
7,500,000 =14l 7,500
HOUSAD|E 2= 532,671 832,989 A 300,318
BEAMAHHA 23 532,671 832,989 A 300,318
SAAAE 5 L 29 221,700 540,704 A 319,004
201 et d| 121,700 119,704 1,996
01 AFR 2t 2| H| 500 1,000 A500
OEANEH 228 2 250,000 *23] 500
02 B33 121,200 118,704 2,496
OXBEES Eot&H X &2l
393,915,911& «0.08 31,514
OUE/aAECHEHl R X 22|
367,935,500 «0.08 29,435
ORMHEE EXAAE X122
42,226,680 «0.08+23,552, 731 0. 12 6,205
O2XHSAAE(SMS) S22l
79,200,000 %0.08 6,336
O o2t AS IO AAE X 22|
14,440,000 «x0.08 1,156
OCIEHUAS(IPT) WEAIAE SX 22l
(350, 100,000 «0.08%1.1)+(20, 050,000 %0. 1 33,456
2x1.1)
OFRUALAZ KSAlHI| 3, 1902 *3,000m*0.06 575
OHAZH KXY 800, 000& x5CH *0.06 240
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2AH: #H
XM = CF
(=R B —

HoEMlg 1S
& FE2ESAUMHA L3 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSaa 2EUEH SXH (=250, UPS)
41,598,000& x0.06 2,496
OS24 UPS |RXIHI 19,773,000 *0.06 1,187
OFESAS A MEXZ A ZHIRXIHI(7TE)
50,000,000& x0.06 3,000
OZESHHd=Z (A, LAN) SXbI
400,000 #2801 & *1/2 5,600
405 TtatF S| 100,000 421,000 A 321,000
01 AL EFFHSH 100,000 421,000 A 321,000
O Z4&so4 HIULEZAEH 22
5,000,000& » 14! 5,000
O 24 UWESRZA EH HLEX
20,000,000 » 14! 20,000
O HESUA OHB2IANAY 25
45,000,000& * 14 45,000
O 4S8Ny HASAAY DI
30,000,000& » 14 30,000
HdE3H AIEBE= 286,320 276,840 9,480
201 Lt 286,320 276,840 9,480
02 =224l 286,320 276,840 9,480
odstea 74,880
— 2Bt 3 10,000& 403 &+ 123 4,800
—dHHE3 25,000 *523| &« 123 15,600
—CO8 MNHIA 2=
4,000,000& *13 & 123 48,000
— 428 sUds 23 100,000& 40 «12& 4,800
— &8 2= 70,0003 *2CH 128 1,680
OQHY dE3lHdz 199,440
— =M E 3 (LAN)  400,000& *393| 4 122 187,200
—BISHEsH(AHLHS)
350,000& »23| & «12& 8,400
— Bt oyl ol M 40,0003 +82] & x 12 3,840
OSMS 2R AMHIA 22 25 %40,0002 128 12,000
nege 82X 24,651 15,445 9,206
101 14 Hl 24,651 15,445 9,206
04 JIZHZ2XEES 24,651 15,445 9,206
Oungge 8 o2 24,651
—Jl=s 68,8003 13 »324 & 22,292
— =z EER 22,292,000 x4.5% 1,004
—d2dEE= 22,292,000& +3.335% 744
—EIRYEER 744 ,000& x8.51% 64
—NE2EE 22,292,000& *1.65% 368
—MTHEEZE 22,292,000& x0.8% 179




2AM: #HH
MM CCTV JIBFAIE A3t
S : CCTV JIBHAIE 25 29

- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
CCTV J|BtAIAE 23} ,629,073 1,038,090 590,983
== 157,488
= ,471,585
CCTV DJIBtAIE 25 299 ,629,073 1,038,090 590,983
o= 157,488
= ,471,585
CCTV Sgag2el ,021,585 467,650 553,935
201 et | 456,585 176,770 279,815
01 AP 2t 2| H| 1,200 1,200 0
OSE&HMAH 2| 100,000 x12& 1,200
02 Z2=2=24%4| 455,385 175,570 279,815
OCCTV &I At2Z2 15,000 #2394 A x12& 43,020
OCCTV 3l A2 = 80,000 239 A x12& 229,440
OA&ZHl |AXll 90,499
— X}E$HSTS CCTV S Xl &2l]
341,140,835 «0.08 27,292
— XEHSTS CCTV HHAIAE S22/
10,450,000 0 .08 836
— SHYYEFAXA CCTV S A 22|
141,724 ,8852 =0.08 11,338
—sE0I2 Y8 CCTV |KA&2ld|
407,181,900 x0.055%1. 1 24,635
—HelolEs3YE, EAIZ& CCTV Xl &2lt]
31,214,505 %0.08 2,498
— CCTV Al & Xl HI 100, 000& *23904 &~ 23,900
OSE&HMAEH AFR2121 A2l
500,000& *23| 1,000
OSs2HHdH S22l
(770,250,830+0.08)+(248,380,380%0.12) 91,426
307 2Iz2t0| & 315,000 290,880 24,120
05 QIZtR E 2 315,000 290,880 24,120
OCCTV SEZHHEEH 2HE A AIY
3,281,250 x8H x12& 315,000
405 XHA&HF S HI 250,000 0 250,000
01 XA 2 FF S| 250,000 0 250,000
OCCTV &8 ZHAAE 2=
150,000, 000& x 14! 150,000
OCCTV HAEZe|AAE 2= 65,000,000 14! 65,000
OCCTV DEJAIAE x 35,000,000& = 14! 35,000
F0IMEotA CCTV A X 450,000 425,000 25,000
401 Al HI L £ 0HHI 450,000 425,000 25,000
01 Al& B 450,000 425,000 25,000
OF0lMEtotA™ CCTVAE X 450,000
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SN BE D
XE: CCTV JIBHAIA 23t

SRl CCTV JIBIAIE 25 29 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
S ZBIANS COTV AX
25,000, 000& =18 £~ 450,000
TSE N HAHAY 157,488 145,440 12,048
< 157,488
307 QI2t0| M 157,488 145,440 12,048
T 157,488
05 A2t E =2 157,488 145,440 12,048
Ox=E& W CCTV A A 157,488,000& * 14! 157,488
& 157,488
HMSHEAY (HE D) 50,510,248 44,738,942 5,771,306
= 10,762
= 461
= 50,499,025
ol 2| 49,698, 188 43,956,792 5,741,396
= 10,762
& 461
= 49,686,965
olAH(BH) 49,612,175 43,731,140 5,881,035
101 @121l 38,004,356 383,455,677 4,548,679
01 2 36,753,537 32,318,847 4,434,690
oJleas 26,806,603
— A SH 3,631,255
HRA 95,611,000 «1H 95,611
A2 (RE2F) 89, 156,000& 14 89, 156
42 89, 156,000& 5H 445,780
- 53 78,966,000& 38 3,000,708
— 2Bt 22,032,864
- 63 4,135,000& x201H =128 9,973,620
73 3,144,000& 187 12& 7,055,136
- 82 2,107,000& 1419 »12& 3,565,044
- 932 1,817,000& x66H x 122 1,439,064
—XNE, d32H 1,142,484
« N AL 3,297,000 *»27H «12& 1,068,228
oA 2 AL 3,094,000 x2H x12& 74,256
OllRsFA==Y 361,353
— 2Bt 339,889
- 52 7,063,000 *4H x12& x4 . 1% 13,900
- 63 4,102,000& *107H x12& *4 . 1% 215,946
=2 3,223,000 68 «12& x4 . 1% 107,829
- 83 2,249,000 x2H «12& *4 . 1% 2,214
—XE, da3& 21,464
- NI & AL 3,966,000 *11H *12& x4 . 1% 21,464
OGP F=g=] 23,175,348,000& x1/12 1,931,279
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2N
X ZH -
L= B

el

ro o o2
1% 02 oA
HO O &

02 02

=5

0y
=S
B
04
1]

SA - BB B () - MM - BES Ol &t o San HmEET
OFZ2+EIHAS(FIHIH =z LEH) 585,720
— 2540l & 130,000& »217H x12& 338,520
— 209 0l &~254 0] ¢ 110,000 23« 12& 30,360
— 158 0l &~20& 0] g+ 80,0003 106 «12& 101,760
— 1049 0l &~154 0] ¢+ 60,000 x64H <123 46,080
— 5@ 0l &~10 0] 8¢ 50,0003 «115H 128 69,000
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< 215,770
s ,941,935
—SFHEd 265,540,000 * 14! 265,540
= 132,770
< 13,277
e 119,493
2 sSAH 2SN 180,000 144,000 36,000
301 LEMZ 180,000 144,000 36,000
12 J|EH 2 & 2 180,000 144,000 36,000
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AN =S
dM: Lol 2EX A
el AAB L MEX Y (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ot ZstsAtt 28 X&
50,000 *300F «12& 180,000
J2Y =3 T2 22 oy X 32,659 31,699 960
= 6,532
[ia 26,127
307 gl2tol & 32,659 31,699 960
< 6,532
s 26,127
03 BIAHNHE2IHIEL 32,659 31,699 960
OZ2Y 2% MY X
32,659,000& »1H 32,659
< 6,532
s 26,127
Lolg 2EXNE 147,890 136,617 11,273
301 LB AF 3,300 3,300 0
09 BAAHIXI® 2 3,300 3,300 0
ONRSLYT HEE &I} AHN
100,000& 3 * 12 300
O&BIIH &It X& 3,000,000& =13 3,000
307 glz2tol & 144,590 133,317 11,273
02 LIt HAMHEE 65,760 62,000 3,760
Ookeolglzt Holna 249 XN 65,760
—ZA=Z 30,0003 *2Al 2t«15H *503] 45,000
— Mzl 50,000 *300H 15,000
—&dAlg & 2H3 1,000, 000& *23| 2,000
— =&H| 3,760,000 » 14! 3,760
03 QI HE2IHEx 78,830 71,317 7,513
Okols 2EX& 76,670,000& 14 76,670
OUstcslE2Z X3 SHeMBEEIARA 2
I K& 180,000& =122 2,160
Lolg 2YXNA(ZHIERX) 36,212 35,051 1,161
< 7,242
i 28,970
307 21201 A 36,212 35,051 1,161
< 7,242
s 28,970
03 QIZtHNHE2HEHEX 36,212 35,051 1,161
OZ2Esld W=EHl XN 100,000 «71H 13| 7,100
< 1,420
e 5,680
Okols AHR= 2% XI&  29,112,000& «1H 29,112
< 5,822
s 23,290
SEEAz N 25,000 15,000 10,000
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SN Fo=NY
HH: Lo =X B
el AUE LB MEXE CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 25,000 15,000 10,000
12 JIEtE2 A= 25,000 15,000 10,000
Ozt&&=2 A 25,000
— A& SEHAS 200,000& *120+ 24,000
— &S = & EHZ 100,000& 10+ 1,000
Aol =" X 154,800 126,000 28,800
301 et A= 154,800 126,000 28,800
01 Al E & A 462 154,800 126,000 28,800
OFxolxe I 30,000 430 «12& 154,800
eee I 30,000 30,000 0
301 dEtE M= 30,000 30,000 0
01 Al B & A 46 2 30,000 30,000 0
og&s4 XA 50,000& x50 x12& 30,000
Losie 24 456,456 440,000 16,456
307 212t0| & 456,456 440,000 16,456
05 QIZ2tEF 2 456,456 440,000 16,456
okoExa 249 456,456,000 x 1 456,456
822 LoUAXNEX S2& 45 ARG IHE 35,000 35,000 0
307 2Iz2to| & 35,000 35,000 0
02 DI AAIE 2 X 35,000 35,000 0
OBz SoAXNEA ¢ 23 A& A
35,000,000& = 14! 35,000
SHEOSSEHHS SSAHNLE HHA 29 36,500 37,080 A 580
Dl 18,250
= 3,650
= 14,600
307 212t0| & 36,500 37,080 A 580
J| 18,250
o=t 3,650
= 14,600
11 A EXAIEEX 36,500 37,080 A 580
OSAHLoS2EESE0l AlAE 29
36,500,000& =1 36,500
J| 18,250
== 3,650
= 14,600
Losgts=s AUl A 1,403,410 0 1,403,410
= 982,370
& 126,312
= 294,728
307 212t0| & 1,403,410 0 1,403,410
= 982,370
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AN =S
HH: Lol =X =X
el AAB L MEX Y (S5 &)
SA - BB B () - MM - BES Ol &t o San HmEET
< 126,312
s 294,728
11T M SXASEX 1,403,410 0 1,403,410
okeolgtsssAMt A 1,403,410,000& 14 1,403,410
= 982,370
< 126,312
[ia 294,728
H=EE LE2EE2H It 4 5,244,107 5,238,362 5,745
= 257,622
= 1,332,464
i 3,654,021
Z2Y HE+> Mg XA 234,850 196,800 38,050
401 AIEHI L 2] 2,500 0 2,500
01 A& HI 2,500 0 2,500
OAtU2el B2Y HE= MY
2,500,000 » 14! 2,500
402 RIZEX201 ™ 232,350 196,800 35,550
01 RIZt Xt 2 AL E = (REA &) 232,350 196,800 35,550
OZZ2Y HE= AtY 232,350,000 =14 232,350
d2Y Yugy| (230X 598,490 614,230 A 15,740
= 149,622
< 134,660
s 314,208
301 LeBAF 81,890 101,230 A 19,340
= 20,472
= 18,425
s 42,993
01 Ml28E 6= 81,890 101,230 A 19,340
OZz2% &34 XA 81,890,000& 14 81,890
= 20,472
< 18,425
i 42,993
307 glz2+ol & 516,600 513,000 3,600
= 129,150
= 116,235
i 271,215
10 ALSISXAIEEE 22X 516,600 513,000 3,600
OoZzg ted X& 1,600,000 287 JH 2~ 459,200
= 114,800
< 103,320
s 241,080
OZd2g Jd2dl XA 100,000 «2874 2 »2& 57,400
= 14,350
< 12,915
i 30,135
CoEIIYI2 AESH X 1,993,273 2,286,900 AN 293,627
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= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
=) 1,056,435
s 936,838
301 LEAZ 1,993,273 2,286,900 N 293,627
& 1,056,435
s 936,838
01 MEI2EZE+05l= 1,993,273 2,286,900 A 293,627
OLFIQAIIZA NS0 X3
1,993,273,000& =1 1,993,273
=) 1,056,435
e 936,838
MIOt=CI=XAE 2N 158,914 150,465 8,449
307 g1+l & 158,914 150,465 8,449
11T M SXASE EX 158,914 150,465 8,449
OMIt==XANE 23 N
158,914,000 10 £ 158,914
HEg8slUsod=sia 23 N3 100,000 100,000 0
307 21201 A 100,000 100,000 0
11T ALS S XAEE = 100,000 100,000 0
OotEdals=si2 249 X
100,000, 0003 *1JH 2 100,000
9988 H=ELI0IALY XI& 435,531 402,710 32,821
< 130,659
[ia 304,872
307 21201 A 435,531 402,710 32,821
= 130,659
s 304,872
11T A SRAEE = 435,531 402,710 32,821
09988 #H=LIS0IAMY X2 (16Y)
435,531,000& 14 435,531
< 130,659
[ia 304,872
SoEdIeedIN2 HI=EH X ,086,297 601,289 485,008
301 LA F ,086,297 601,289 485,008
01 AR 2Z A5 3 ,086,297 601,289 485,008
OL@IILIN& Hited XA
1,086,297,000& 14 ,086,297
d2Y 29l A& 382,800 378,840 3,960
307 21201 A 382,800 378,840 3,960
10 ALSISEXAIEEE2GHEX 382,800 378,840 3,960
OZd=2d 2Zdl XI& 110,000 2904 212 382,800
Z2% d¢e)| 44 X 9,000 0 9,000
402 2I2tXtE=01 & 9,000 0 9,000
01 212t 2 AL E = (REMTH ) 9,000 0 9,000
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2N
X ZH -

L= B o
el

xD|EX|E

T T/

=

SN B(3H) -

N2 A

01
o

Off &t 24

=

i
2

[=]
OMASZON MEH L ZAtH X1 (40E)

1,320,000& «14

Mo H

1,320

1,320
660
462
198

1,320

gopel 2=Hl XA

MW

37,686
30,149
5,276
2,261

66,436

N 28,750

308 XM S0IH

Mo H

37,686
30,149
5,276
2,261

66,436

A 28,750

U R I

37,686

37,686
30,149
5,276
2,261

66,436

A 28,750

M

2,813
2,250
394
169

2,582

231

301 LEIEN S

MR

2,813
2,250
394
169

2,582

231

A
OFOMHALZEIF XA (108) 2,813,0008 14

HH W

2,813

2,813
2,250
394
169

2,582

231

Yal
2
=)
=
S

o AXtel X (Lersxdxtel)

HH A

357,026
178,513

53,554
124,959

347,048

9,978

HH A

357,026
178,513

53,554
124,959

347,048

9,978

04 J12ZtHI22 XS
OXTOH LBtH AT AL (XL HI)

= A
- T

357,026,000& x1&

MR

357,026

357,026
178,513

53,554
124,959

347,048

9,978

0

FORQN 2 Xtel X (AIZER L Xtel)

38,274

37,204

1,070
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2H: FoI=XD

M HOMC SXNSE
Sl MOl MEOIFA R CEEEED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 19,137
& 5,741
= 13,396
101 124 H] 38,274 37,204 1,070
= 19,137
& 5,741
= 13,396
04 JI2ZtHIZ22NEE S 38,274 37,204 1,070
Qoo eta A T2l AP (AI2EAD)
38,274,000 x 14 38,274
= 19,137
& 5,741
= 13,396
ol EXLXelAIYE K& 307,040 263,346 43,694
= 153,520
&< 46,056
= 107,464
307 2iz2to| A 307,040 263,346 43,694
= 153,520
& 46,056
= 107,464
11T AISIEXAIEEX 307,040 263,346 43,694
Q& =2Xdrel AF(519)
307,040,000 1A 307,040
= 153,520
& 46,056
= 107,464
MASSES 2020 A)edEsEs I 15,000 15,000 0
301 et A= 15,000 15,000 0
01 Al E & A 462 15,000 15,000 0
ONASE 2002AY L BI2Y 22 X
10,000 x125MI CH 12 15,000
EEMO SatHI 2 XA 1,000 3,000 A 2,000
= 700
o 90
= 210
301 et X = 1,000 3,000 A 2,000
= 700
& 90
= 210
01 Al E & A 462 1,000 3,000 A 2,000
OWHE A sSHtHIE XS 1,000,000 x1H 1,000
= 700
= 90
= 210
EEOMC DA R0l K& 30,000 30,000 0
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2H: FoI=XD

M HOe =2XNE5E
ol FONQl MEOIEH X & (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 30,000 30,000 0
11T M SRASEEX 30,000 30,000 0
O0HEMINAIE 20| AH
30,000,000& =14 2 30,000
ANLEIILE ARSI X& 800 800 0
< 400
[ia 400
402 RI2EX 20| ™ 800 800 0
< 400
s 400
02 2IZE 2 AL EZ (OIS ) 800 800 0
OAZEOQIIIE JIAXS XD XA
200,000& »4H 800
< 400
s 400
Zoe s 0ls&EHl =2l XA 6,000 6,000 0
301 LeEBAF 6,000 6,000 0
01 Mel28E+06l= 6,000 6,000 0
OZOe ds0ls&Hl el X
200,000& *30H 6,000
ZOHASZ 1,326,252 1,375,770 249,518
= 928,376
< 119,363
s 278,513
301 LA F 1,326,252 1,375,770 A 49,518
= 928,376
< 119,363
s 278,513
01 AR 2Z A 53 1,326,252 1,375,770 A 49,518
@RSV RelRe b= = 1,326,252,000& 14 1,326,252
= 928,376
< 119,363
s 278,513
o=+ (=) 148,670 158,948 A 10,278
= 104,069
< 31,221
s 13,380
301 gEd = 148,670 158,948 A 10,278
= 104,069
< 31,221
s 13,380
01 MEI2EZE 6= 148,670 158,948 A 10,278
OFM== (=) X= 148,670,000& 14 148,670
= 104,069
< 31,221
s 13,380
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A FUEX L
Hu: ool 2N
el ROl MEOIET R CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
TS (XAt S) 132,286 143,387 A 11,101
= 92,600
& 27,780
= 11,906
301 et A= 132,286 143,387 A 11,101
= 92,600
= 27,780
= 11,906
01 AR E & A 462 132,286 143,387 A 11,101
OXBMNES (Xa?) X2 132,286,000 1 132,286
= 92,600
=} 27,780
= 11,906
SRR Aelad XA 960 960 0
2 672
& 86
= 202
308 XAXISHHMSO0lI& 960 960 0
= 672
& 86
= 202
10 B2 SHUSE AN EAIS Y 960 960 0
Oogg e f2a& XA 960,000 1 960
= 672
o 86
= 202
NASE SSH0Q wsEH XA 109,800 90,000 19,800
301 et M= 109,800 90,000 19,800
01 A& A6 23 109,800 90,000 19,800
ONAE ZESEZZ0MC WEH XN
30,000& *305H x12& 109,800
ol =X Il REXLH 2,913,458 2,569,943 343,515
= 916,088
= 112,036
= 1,885,334
SO el AL XIR 28,000 28,000 0
307 QI2t0| & 28,000 28,000 0
02 Q2B MAIE E =X 7,000 4,000 3,000
OFOMR ZE=H A 4,000,000 *13] 4,000
O=s0teloe sHAL 3,000,000 x13| 3,000
04 CIZ2tSHAPALS B = 21,000 24,000 A 3,000
OXFOeIoY A 10,000,000& *13] 10,000
O&XEOIY A 3,000,000 x13| 3,000
OX M &Nl ol e AL 5,000,000 *13| 5,000
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2N
X ZH -
L= B

el

=e =X
ol sXsd

Zojel =X O PEX

SN HH-S(BN) - MBAY - B il HlnE2
OO0t &t S M= CHS A 3,000,000 *138! 3,000
ZoHels 2 24 K& 60,708 72,802 A 12,094
201 L2l 23,404 19,120 4,284
01 At 22l 5,604 4,320 1,284
OA2gdIAUA =S 187,000& =128 2,244
OsdllzzdUdE= 180,000& = 12& 2,160
O&J|etdEZUHE = 100,000& 12 1,200
02 8323l 17,800 14,800 3,000
OA& EHI R Xldl 10,000, 000& =1 10,000
OZ23R= 650,000 128 7,800
307 glz2+ol & 37,304 36,682 622
03 QI HE2IHEx 37,304 36,682 622
OXofels2t 249 K& 37,304,000& x 14 37,304
FojoEsHHE 249 17,580 110,960 A 93,380
201 Let24d] 17,580 15,960 1,620
02 8323l 17,580 15,960 1,620
O2323 17,580
—&JIeE 900,000& »12& 10,800
—dgRa 60,000& 123 720
—HEYLH Y 335,000& 128 4,020
— 203 249 170,000& =128 2,040
ZOIMIIEXN SALEEH 29 149,000 129,775 19,225
307 glz2tol & 149,000 129,775 19,225
11T ALS S XAEE = 149,000 129,775 19,225
OXOHC TIISXSAEEH 29
149,000,000& *1JH 2 149,000
ZOHOl YABSOIEI| NAMEH 2 66.430 68. 160 A1,730
= 26,572
[ia 39,858
307 21201 A 66,430 68, 160 A 1,730
< 26,572
[ia 39,858
11T ALS S XA E = 66,430 68, 160 A 1,730
OFHe L2AdBSHFI NJAHH 29
66,430,000 =10 2 66,430
< 26,572
s 39,858
ZOHQ AZSA 23 MY 10,000 10,000 0
= 4,000
s 6,000
307 21201 A 10,000 10,000 0
< 4,000
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2N
e =SXsN

el

X ZH
S =

=e =X

Zojel =X O PEX

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 6,000
11 AISI S XA E = 10,000 10,000 0
OZOQ ALSH S At
10,000,000 =104 2 10,000
< 4,000
i 6,000
=HEGHH 29 188,553 175,944 12,609
307 glz2tol & 188,553 175,944 12,609
11T AISI S XA E = 188,553 175,944 12,609
Ox=0EgdH2Y 188,553,000 * 10 A 188,553
Ol MEosXALdEH 29 146,068 136,034 10,034
307 glz2+ol & 146,068 136,034 10,034
11 AISISAAISEE = 146,068 136,034 10,034
O ME0ISNAEE 29
146,068,000 10 2 146,068
Ol ZEXNE 29 XA 28,958 28,456 502
307 glz2tol & 28,958 28,456 502
03 QIAHNHE2IHIEE 28,958 28,456 502
OXofel eI ZEXNE 29 X
28,958,000 * 10 & 28,958
oo sk A 1,185,525 839,461 346,064
= 829,868
= 71,131
s 284,526
308 XXM S0 A 1,185,525 839,461 346,064
= 829,868
< 71,131
s 284,526
10 37/ 2S0HUHeBAEEALS I 1,185,525 839,461 346,064
OFMLESXE AHZ (57Y)
1,185,525,000& =1 1,185,525
= 829,868
< 71,131
s 284,526
SSHMY 22X FIHANE 1,170 1,555 A 385
< 351
s 819
308 XXM S0 A 1,170 1,555 A 385
< 351
[ia 819
10 B3I/ 2S0HUHeBA&EEALS I 1,170 1,555 A 385
O=ZSHML #sE2X FIIXNE
1,170,000& 14 1,170
< 351
e 819
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el

X ZH
S =

=e =X

Zojel =X O PEX

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

ZoH =X 2 2H (Xt

)

908,295

844,157

64,138

307 21201 &

908,295

844,157

64,138

05 212+

24 870,081,000 *1JH &

(MDA W)
38,214,000& 1

215k AF D)

Ho

908,295
870,081

38,214

844,157

64,138

SLMEMEIA X2

MW

86,400
60,480

7,776
18,144

86,400

308 MHXIHHMSOIH

M

86,400
60,480

7,776
18,144

86,400

o M
I
0
=
e
x
[y

=)
e
on
==}
2
r

A AE AL I
A

<X XI&(408)
86,400,000& 1

Mo R

86,400

86,400
60,480

7,776
18,144

86,400

r

g
na
oz
2
°
oF
(S|
o
i

i
x
=5
I>

MR

36,771
25,740
2,206
8,825

17,100

19,671

308 MHXIHHMSOIH

MW

36,771
25,740
2,206
8,825

17,100

19,671

OLLM 2 sSMHIA Bt2H K& (5

36,771,000& «14

Mo H

36,771

36,771
25,740
2,206
8,825

17,100

19,671

02

.
m
Ho
0x

M S

2,746,056
5,950
212,412
28,458
2,499,236

648,318

2,097,738

0]
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m
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0x
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2,746,056
5,950
212,412
28,458
2,499,236

648,318

2,097,738

132,649

135,789

A 3,140

2,000

2,000
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 2,000 2,000 0
OAEZHI S X 2,000,000& =14 2,000
307 21201 A 109,759 110,689 A 930
05 Bl 3 109,759 110,689 £930
OFAHER235T 2 85,759,000 *14] 85,759
OZBHAEANM T2y 2% X2
12,000, 000& 14 12,000
o2 #3448 =M N2 12,000, 000& 14! 12,000
401 Al HIZ 2018 16,000 8,000 8,000
01 A& HI 16,000 8,000 8,000
O&EAE 2398 =2 &X
2,000,000 x84l 16,000
405 RHoHE S HI 4,890 15,100 A 10,210
01 AL EZFH S 4,890 15,100 210,210
OZ4H 239% ¥2NE 7
3,000,000 » 14l 3,000
O&AY 232% 1,890
— =70 1,890, 000& = 1CH 1,890
HAGEHAIE XZ A B XX 22,980 22,320 660
J| 11,490
s 11,490
307 gl2tol & 22,980 22,320 660
J| 11,490
s 11,490
11T M SXAIS EX 22,980 22,320 660
OBAE4RAL NE N 228 ML (1)
22,980,000& 14 22,980
J| 11,490
= 11,490
dAEES et 2,166 2,166 0
201 LBt 2t 1,586 1,586 0
01 At 22l 1,586 1,586 0
O¥A2EES 2 224 950, 0003 » 14! 950
OFEAHES MU 6,000& «500H 300
OFLERMHST A OF2tEHE S S|
7,000& x2H #2435 336
301 P BHZ 580 580 0
09 SALEHIX A S 480 480 0
OFEA2EXNERF WO 40,000& x12H 480
12 JEE2d= 100 100 0
OFAERMNEZ M1 Z&S 50,000& *23] 100
o dEEXHH 29 94,703 92,649 2,054
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A FUEX L
B gad 84
ool HAW 25 Y 84 CERED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 2,000 2,000 0
02 =224 H| 2,000 2,000 0
OA & &l XYl 2,000,000 =14l 2,000
307 gizto| A 92,703 90, 649 2,054
05 QIZtRES 92,703 90, 649 2,054
OFAEALG=XNALAEH 2SI
92,703,000 x 14 92,703
HAadE orda = 96,800 94,700 2,100
J| 48,400
= 48,400
307 2izto| A 96,800 94,700 2,100
J| 48,400
= 48,400
11T AISIEXAIEEX 96,800 94,700 2,100
OFAHE otMG = 96,800, 000& x 14! 96,800
Dl 48,400
= 48,400
Hald SEEIE MY 2,500 5,600 A 3,100
J| 1,750
= 750
301 et M= 2,500 5,600 A 3,100
J| 1,750
iy 750
01 AMFSIEXEE 4562 2,500 5,600 A 3,100
O~ EEIH 2,500,000 =14l 2,500
J| 1,750
= 750
sty g HAE X 83,716 82,060 1,656
J| 58,601
= 25,115
307 2Iz2to| & 83,716 82,060 1,656
J| 58,601
= 25,115
11T A EXAIEEX 83,716 82,060 1,656
Ostn g 344 X 83,716,000 10 A 83,716
J| 58,601
= 25,115
DHIEAE SHUS DT 8,000 6,000 2,000
307 giztol A 8,000 6,000 2,000
02 QI2tAAMAIE E =X 8,000 6,000 2,000
ORYEAE SHAUF 2D 8,000,000 *13| 8,000
HdAUESOole EsAH 2,500 2,500 0
= 1,000
o=} 450
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= g3X¥ 170,222 169,202 1,020
85,111
25,533
59,578

S

Mo

307 glztol & 170,222 169,202 1,020
85,111
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S
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O
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B>
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0z
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170,222,000 170 & 170,222
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A
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(XEA) 5,800 0 5,800

307 21201 A 5,800 0 5,800

1A S XA E = 5,800 0 5,800
O34 &it= 23X MU 40 28

2
5,800,000& 1 5,800

dag AN AL 9,900 6,332 3,568
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2,475
2,475

MW

w
<
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o
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9,900 6,332 3,568
4,950
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SN ZU=XY
B gad 84
ool HAW 25 Y 84 CERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 2,475
s 2,475
01 MEI2BZE+06l= 9,900 6,332 3,568
OMASE HdEAHE AMES XE
9,900,000 » 14 9,900
= 4,950
< 2,475
e 2,475
HAUSEIEZOS 2R 11,320 11,000 320
J| 5,660
s 5,660
307 g1+l & 11,320 11,000 320
J| 5,660
s 5,660
11T M3 Z2XASE EX 11,320 11,000 320
OHEAEZIULN T2 2 X2
11,320,000 =10 2 11,320
J| 5,660
i 5,660
222 dadsEa Hg 2,100,000 0 2,100,000
401 Al HIZ 201 Y] 2,100,000 0 2,100,000
01 A& HI 2,100,000 0 2,100,000
OFAY =32 EXNHLYH S
2,100,000, 000& 14 2,100,000
=0 =MEST 9,729,403 8,811,501 917,902
= 7,222,155
s 39,335
< 843,135
s 1,624,778
HASE dE2s 7,286,225 6,553,983 732,242
= 5,525,030
< 688,873
s 1,072,322
S ZHSLEIHIIZ 2RES(RE2) 356,477 335,571 20,906
308 XtXIEHHSOIA 356,477 335,571 20,906
07 IXNHHAR2E = 356,477 335,571 20,906
OY=2=SWEEIAHIIS 2RE=
356,477,000& 14 356,477
/=220 Atdlzel 7,496 5,390 2,106
101 @124l 7,496 5,390 2,106
03 RIAHA2 2 HE > 7,496 5,390 2,106
Oz 302l At 22 (ZEFIHHI)
1,635,000 23| x1H 3,270
Oozz0i&elAb 212AHI (AW Z2)
1,083,000& * 1 »23| 2,166
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130,000& » 12 123 1,560
O1l=H| 500,000& 1 %13 500

HAS 5,779,917 5,035,741 744,176
4,623,934
577,991
577,992

Mo A

301 LEtEH S 5,779,917 5,035,741 744,176
4,623,934
577,991
577,992

Mo H

01 AR 2&H =63 5,779,917 5,035,741 744,176
OdAH=H X& 5,779,917,000& x1& 5,779,917
4,623,934

577,991
577,992

MW

FHs0 1,082,500 1,112,500 230,000
866,000
108,250
108,250

MW

301 LEENZF 1,082,500 1,112,500 A30,000
866,000
108,250
108,250

MW

01 Al 28X =062 1,082,500 1,112,500 A30,000
OFHsW X 1,082,500,000& 1 1,082,500

866,000
108,250
108,250

R

nEg 15,965 15,044 921

308 NHXIEHMS0I™ 15,965 15,044 921

08 wFJl20et2=x 15,965 15,044 921
Ousso 15,965,000& x1& 15,965

il

H &R

(il

o 43,870 49,737 A5,867
35,096
2,632
6,142

ol

U AT

301 LEIEN = 43,870 49,737 A5,867
35,096
2,632
6,142

Mo A

01 MBI 2 H 203 43,870 49,737 A5,867
& =0 X2 43,870,000& 1 43,870

35,096
2,632
6,142

MW
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SN FUSKD
o RO EMBEE
2 ANE22AE XS (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
NEZZAIYE X & 1,562,737 1,570,288 AT ,551
= 1,169,356
= 39,335
== 92,170
= 261,876
JEAF - 248 Bt2 22| AF XI& A S 49,169 40,995 8,174
= 39,335
= 2,950
= 6,884
308 XNHXIEHSOIA 49,169 40,995 8,174
g 39,335
o= 2,950
= 6,884
10 B 2SUHUSHEAEAE A Y| 49,169 40,995 8,174
OJIAI2ZtE I 2 22 A RIRAIS (MBI BEEFELR
2 &) 49,169,000 * 104 & 49,169
g 39,335
= 2,950
= 6,884
ANEZ2Z AIY 988,678 957,348 31,330
= 790,942
= 59,321
= 138,415
307 212t0| & 988,678 957,348 31,330
= 790,942
o=t 59,321
= 138,415
05 QIZ2tREF 2 988,678 957,348 31,330
OXE2Z ALE Y| 988,678,000 1A 088,678
= 790,942
&< 59,321
iy 138,415
INE= S 70,946 101,459 A 30,513
= 56,759
& 4,255
= 9,932
301 et A =2 70,946 101,459 A 30,513
= 56,759
& 4,255
= 9,932
01 Al B & A 462 70,946 101,459 A 30,513
OXNEEAZ2 XN 70,946,000& =14 70,946
= 56,759
= 4,255
= 9,932
NETEMHEH 29 264,023 256, 101 7,922
= 184,817
= 79,206
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307 glz2tol & 264,023 256,101 7,922
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OXYRade 294l 264,023,000 14 264,023
2 184,817
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AHEALY 243 FA OAY 21,000 21,000 0
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= 12,600
402 RIZ2FXt20l ™ 21,000 21,000 0
< 8,400
[ 12,600
02 RIZE X2 AL EZ (OIS ) 21,000 21,000 0
OXtgeds =AY 21,000,000 =104 2 21,000
= 8,400
s 12,600
I SSEMY X 26,250 27,124 AB74
= 21,000
s 5,250
301 LEd = 26,250 0 26,250
= 21,000
[ia 5,250
01 MI2EZE 06z 26,250 0 26,250
OZzsaAYs 2309 243 N (LIS
EE1) 26,250,000& 14 26,250
= 21,000
s 5,250
HWedIsSEAE X 9,000 17,394 A 8,394
= 7,200
s 1,800
301 LeHBAF 9,000 0 9,000
= 7,200
s 1,800
01 MI28E +06l= 9,000 0 9,000
OzZ2sgUses =312 €22 N (UWLaIs
s) 9,000,000& x14 9,000
= 7,200
s 1,800
FUEs IS SHEAMY K& 32,200 43,046 A 10,846
= 25,760
< 1,932
[ia 4,508
301 LA F 32,200 0 32,200
= 25,760
< 1,932
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 4,508
01 MEIBZE 06z 32,200 0 32,200
OZzs=Us +309 42 N (U
ISEEH) 32,200,000& 14 32,200
= 25,760
< 1,932
i 4,508
YIS SE2AY XA 85,065 82,524 2,541
= 69,753
< 15,312
301 LBEAZ 85,065 0 85,065
= 69,753
S 15,312
01 MEI2BZE 06z 85,065 0 85,065
O2253Ys +3N9 243 NV (YIS
EE2) 85,065,000& 14 85,065
= 69,753
< 15,312
HEAS I SSHAY N (HEAMSAHI) 16,406 0 16,406
= 13,125
[ia 3,281
301 LEHZ 16,406 0 16,406
= 13,125
[ia 3,281
01 MEI2EZE 405z 16,406 0 16,406
225200 Y= £300 223N (U
M=) 16,406,000& » 1 16,406
= 13,125
e 3,281
dE=0MY KNI (ASSHISSESAH) 116,312 115,588 724
= 93,050
< 23,262
oz30 J22Y 16,812 19,088 A2,276
= 13,450
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201 £B-2%H| 7,212 10,688 A 3,476
= 5,770
< 1,442
01 At 22l 7,212 10,688 A3,476
O=ZHl (220 22 2HM) 3,000
—2A=220 88 2dEH WA
1,500& =1,5000H 2,250
= 1,800
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—dESE 7Y 100& 7, 5000H 750
= 600
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SHol: Q2T 0IAY KIR(Q 2 5/7) SREED
BB - S (31) - MRAY - BES il 2
O=8Hl(dE2=0 A2F 72¢) 2,612
—E4 2¥ 400,000& *3H 1,200
= 960
< 240
—MREZ(MEX 1,412,000& 14 1,412
= 1,130
< 282
Ogzs0as | =% 500,000& 14 500
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< 100
OggzsHY=R w =l
500,0002 * 14 500
= 400
< 100
Ogzsdu=s 600,000& x 14 600
= 480
< 120
202 oddl 9,600 8,400 1,200
= 7,680
< 1,920
01 = LH o4 1l 9,600 8,400 1,200
Ogzsdgse = 20,0003 *3H 100 6,000
= 4,800
< 1,200
O=A=Z NI 60,0003 x3H 20 3,600
= 2,880
< 720
9220 MEH XY 99,500 96,500 3,000
= 79,600
< 19,900
307 glz2+ol & 98,500 95,500 3,000
= 78,800
< 19,700
01 2724l 98,500 95,500 3,000
OFale gk N | 32,000,000& x14 32,000
= 25,600
< 6,400
OFMAEBEF 35,000,000 » 14 35,000
= 28,000
< 7,000
Oo4d=s & & 2,500,000& 14 2,500
= 2,000
< 500
Oost=3 7,000,000 » 14 7,000
= 5,600
< 1,400
OR 2l 22,000,000& 14 22,000
= 17,600
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B B0 ZMBEE
©Hel: A= 20MY NR(A2SHIISEL3AH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
< 4,400
501 X3 1,000 1,000 0
= 800
< 200
01 RI2tEXt3 1,000 1,000 0
Ogz2s02E8 A=HIH=E=2 1,000,000 14 1,000
= 800
= 200
S Atd AMHlA XI& 764,129 571,642 192,487
= 434,719
< 38,830
s 290,580
2= 336,250 248,750 87,500
= 269,000
i 67,250
301 LEPEXZ 336,250 248,750 87,500
= 269,000
e 67,250
01 MEIBEE 253 336,250 248,750 87,500
Oo2dg=x K& 336,250,000& 14 336,250
= 269,000
s 67,250
HAEE IMEE XA 10,000 15,000 A5,000
307 21201 A 10,000 15,000 A5,000
06 2= 10,000 15,000 A5,000
OMASE SMEE It 10,000, 000& =1 10,000
SIA=XNKNE 2t 1,248 1,248 0
201 £B-2dH| 1,248 1,248 0
01 At 22l 1,200 1,200 0
OZL=RNNAY B 2,000& =13 *6000H 1,200
02 =224l 48 48 0
Osld=R129 &322 4,000& x1CH*128 48
Ji= FE¢3 J& 41,437 39,875 1,562
307 glz2tol & 41,437 39,875 1,562
03 BIAHNHE2IHIEE 41,437 39,875 1,562
OJIZZEYW3 29| 41,437,000 100 & 41,437
S At 22l Ab T HHI XA 96,842 78,369 18,473
= 32,563
< 9,768
s 54,511
101 1A dl 96,842 78,369 18,473
= 32,563
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50,0003 23X

15,2703 «10AI 2E%2H 12
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Mo A

120,000& 2 122
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MW
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HH A
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6,278,000 14|

MR
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15,202
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100

3,665
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550
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1,658
497
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83
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5,500

1,100
4,400

HH A

201 ¢er24| 3,000 3,000 0
1,500

300
1,200

HH A
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2,520,000 «14 2,520

1,260
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1,008

| 480 480 0

2,520 0

Mo A

20,000& =20 122 480
240
48
192

MW

301 LetE2H S 8,000 8,000 0

4,000
800
3,200

HH A

2EH6= 8,000 8,000 0
OANZ SEAtel2el X&(Ardl)

200,000& »402t 7 8,000

4,000

800

3,200

Mo R

SIJIOtE Abdll 2t el

15,000

10,000

5,000

15,000

10,000

5,000

Oof210t8 & 15,000, 000& * 14!

15,000
15,000

10,000

5,000

MW

92,400
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2,772
24,948

92,400

MW
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A FUEX L
My RO EMBEE
&2 S Atdl MHlA K& (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 5,346
02 2=2=24%H| 6,600 4,400 2,200
OSHs =g SeMHlA XK (oHE X 20|
ENRE) 600,000 *11JH A&~ 6,600
= 4,620
& 198
= 1,782
301 et A= 66,000 66,000 0
= 46,200
& 1,980
= 17,820
01 Al B & A 462 66,000 66,000 0
OSHs U4=g SesAHlA XK (A H])
6,000,000 1104 & 66,000
= 46,200
& 1,980
= 17,820
MASS 0MBEXOAT B3 125,952 0 125,952
= 62,976
= 25,190
= 37,786
301 et A =2 125,952 0 125,952
= 62,976
& 25,190
= 37,786
01 Al E & A 462 125,952 0 125,952
OMASS 0IMHX OtAa3aEZ2
125,952,000 =14l 125,952
= 62,976
= 25,190
= 37,786
Jlx= L.y 3t X 34,000 0 34,000
402 BI2H X 20| M 34,000 0 34,000
01 SIZEXIEANYEX (MMM E) 34,000 0 34,000
OJl% ZTcw3 3z 29 X
34,000,000& = 14! 34,000
HHSHAY (==X 88,700 86,080 2,620
Jl2dHl 88,700 86,080 2,620
Jl2dd| (Fer=Xm) 88,700 86,080 2,620
201 et 9| 27,260 27,760 A 500
01 AP 2t 2] d| 25,260 25,760 A 500
Ogttf2y| 25,260
—JIE2EASI AR 22| 300,000 x27H 8,100
SHMAH A2 2| 9,000,000 =1 9,000
—FRAULPFAN 2| 8,000& x34% 30 8,160
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= 27,660
< 6,915
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